
PROBLEMAS DE QUÍMICA

CINÉTICA       

Problema542: Indica la molecularidad de cada paso elemental siguiente y su ecuación de velocidad 
correspondiente:
a) Cl2(g) → 2 Cl(g)

b) NO(g) + Cl2(g) → NOCl2(g)

c) N2O(g) + Cl(g) → N2(g) + ClO(g)

d) 2 NO(g) → N2O2(g)

a) Cl2(g) → 2 Cl(g) 

Reacción unimolecular

v=k·[Cl2]

b) NO(g) + Cl2(g) → NOCl2(g) 

Reacción bimolecular

v=k·[NO] ·[Cl2]

c) N2O(g) + Cl(g) → N2(g) + ClO(g)

Reacción bimolecular

v=k·[N2O ] ·[Cl]

d) 2 NO(g) → N2O2(g)

Reacción bimolecular

v=k·[NO]2
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